
Can you figure me out?

A. 26 = L. of the A.
(Example: 26 = Letters of the Alphabet)

B. 7 = W. of the A.W.
C. 365 = D. in a Y.
D. 12= s. of the Z.
E. 54 = C. in a D (with the J.)
F. 9 = P.in the 5.5.
G. 12 = D. of c.
H. 13 = S. on the A.F.
r. 32 = D.F. at which W.F.
J. 18 = H. on the G.C.
K. 90 = D. in a R.A.
L. 13 = B.D.
M. 12 = M. in a Y.
N. 3 = B.M. (S.H.T.R.)
O. 4 = Q ina G
P. 24 = H. in a D.
Q. 1 = W. on a U.
R. 5 = D. in a Z. C.
S. 57 = H.V.
T. 11 = P. on a F.T.
U. 9 = D in a S.S.N
W. 64 = S. on a C.B.
X. 40 = D.& N. of the G.F.

Make up your own for:
Y.

z.


